Maths Revision Test
Time : 60 mins
Max Marks : 30

Q1. Solve the following

it d=|® Zland 8=[® ™| tndi o8
09 o -1

B Al = | acd Bel® 2 |naaany
7 5 > 6

2 marks
Q2. Find
X+y V+2 Z2+X
If A= z X y |, write the value of det A.

1 1 1
2 marks

Q3. Using properties of determinant solve it

a-b-c 2a 2a
b b-c-a 2b |=(a+b+c)
2c 2 c—-a-p
3 marks

Q4 Using properties of Determinant solve it

sina cosa sin(a+3)
sinp cosp sin(B+5)|=0
siny cosy sin(y +9d)

3 marks



Q5 Using properties of Determinant solve it

b® + ¢° a’ a’
2 2 2 2 5 5
b C + 3 b = d4a b ¢ .
62 02 ;—.r2 + b2
3 marks

Q6.Show that

X y z

x° y2 2° =(y-2z)(z-x)(x-y)(yz+ 2zx + xy).

yz zx Xy

3 marks

Q7. Solve for x

a+x a-x a-x
a-x a+x a-x|/=0.
a-X a-X a+X

3 marks

Q8.Find the inverse of matrix using elementary row transformation.

0 1 2
A=11 2 3|
13 1 1

3 marks

Q9. Solve the following system of equation by matrix method.



4 marks
Q 10
¥ % e
If x, y, z are different and |y y? 1+y®/=0. Show that xyz = — 1.
z 2 ta

4 marks



